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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016

( Indian Economy—II )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o] 2%CaIR- Teg

fa) What is monetary policy?

cnfes e 5 2

(b) Write one feature of Indian trade
policy.
eer qifder Afes <61 CafiEs for |
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(@)

(e)

(9)

(h)
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(2)

State one instrument of Indian fiscal
policy.

SN ey TS 1 ke fara |

What is  capital formation in
agriculture?

RS =4 o1 3 2

What is minimum support price in
Indian agriculture?

What is agrarian StI'llCtLlI‘é:'%’

)y R/

R s R0 G i
\% 2 50,

Define the concept of sustainable

agriculture.

I2THY PRI 4RAGR ge o |

Give the meaning of industrial

diversification.

Somiae cafbameas iyl gy |

( Continued )

()

2. Answer the following questions

WWWW:

(a)

()

()
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(3)
Mention one problem of Indian
small-scale industries.
e FY SIS G0l TP Sy T4 |

Write one technical problem of Indian
agriculture.

SO R B! PR LI

Distinguish between the
account and capital account in context
of Indian budget.

TSRO INE6 INER PP e o Wi
Tera FRo1efa e el fora |

Write two causes of the failure of
public sector in Indian economy.

SReY TAifee e 199 [REsor 11 IR
TEy 9 |

Write two objectives of the ‘new
agricultural strategy’ in India.

TR T P T 761 Swen oy o
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(d) What is import substitution

TR s 2

WV

(e) Write two defects of Indian agricultural
marketing.

SR FR T IR 1 @ Seme <1 |

Answer any four of the following questions :

5x4=20
‘wﬂw“ﬁmﬁﬁﬁwﬁ@mmﬁ%ﬁ%mﬁm; i
{a) Explain the tools of m : i
onetary
in India. o =
ST M M ez e 1 1

(b) Briefly discuss the effect of Green
Revolution in India.

SROR weAifve oiva Raw S
SCETSAT 4T | : B

(c) jEXplain about the working capital and
Investment capital in agriculture.

TS IR ot Wi R goreem R
I 3447 |

( Continued )

(S)

(d) Discuss the role of small-scale
industries in Indian economy.
ool wdAfee Tu T PR wCe
I

(e) Point out the various labour policies
of India.
oReq RS =9 etz wife 4 |

(fl Explain briefly the Indian Foreign
Investment Policy since 1991.
>o5> b P59 |1 oRed Aot Rftc
NS ve 2 <40 |

4. Answer the following questions : 10x4=40

o PR T i

(a) Explain the main features of the New
Industrial Policy, 1991. 10
o Srgfe WS, S5833 YW WREPER
EIGICRIEEIN

Or / 9<[1
Explain the role of industries in
economic development of India.
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(6)

(b) Discuss the causes of slow growth
of agricultural production in Indian

economy. 10
SReN wiAifee IR My Rerm FRPIYR
SHICEBAT 47 |

SRR Or / 9331

/_,Q‘Q}"“" & & -."*'“. < .
g/ A“H P Explain the role of agriculture in

Inclilan economy.

o] /ﬁwﬁ%wﬂmmw

<53 s
& ? ) Discuss the causes of increasing role

of service sector in Indian economy
in recent times. 10

ﬂﬁ%ﬁﬂﬁﬁ?_ﬁﬂmw
ﬁCWWWWWI

Or / 3241

Explain the role and importance of
foreign investment in Indian economy.

. SReN 9N Ao e BTG
TGS 7] 9547 |
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(7)

(d] Point out the various shortcomings
of monetary policy in India. Suggest
some remedial measures. 6+4=10

ﬂmﬁaﬁﬁwﬁwwﬁﬁ

Give an outline of the vario

economic policies of India. 10
TRed ey swiEaW wdafs ST eome
YRS 411
* * %
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